A=(Q,q0, F.Z,A)

(Finite  Automaton) "

A=({012,3},0,{3},{a,b},A)

A(0,a) ={01}
A(0,b) =0
ALb)=2

A(2,0) =3

State/Alphabet| @ b
0 0,1 0
1 - 2
2 - 3
3 . =
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(Deterministic) "

A:QxE—>Q:A(qi,a):qj :




Input: Non Deterministic Finite Automaton Al = (Q1, Ay F1,%,Al)
Output: Deterministic Finite Automaton A2 =(Q2, Ay F2,%,A2)

For each pe€Ql and for each a€ X Do
Add to transition table all the composite states produced by Al(p,a)

All states with at least one final state, become final states
Renumber the states

A(0,a) ={0.33

AQb)=0 | )
ALb)=2 [ A=({01,2,3},0{3}{a,b}, A)

A(2,0) =3
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Statel Alphabet
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Li A=(Q,qO,F,Z,A) L
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.Li=aLj X A(qi,a)ij -1
.Li=8 qIEF -2
L|=0(|,B leﬂ lea -3
.LO -4

*
[L=uL|v:> L=u v} :
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LO:aLolbLolaLl |—0=a|—0|b|—0|3-|-1
= =aL0 |bLO | abbL3 =

=bL
t12=bL23 L, =bbL,

(a|b)” abb

Lﬂ=a‘|—ﬂ| bLn|aL1
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(Push Down Automaton) "
p:(Q,qO,F,Z,F,T,A)
Q -1
Q Gy 2
Q F -3
X -4
I -5
r -6
A:QxZ x> QxI : A
)
-1



n

alp"

(s,a,&) > (s, A)
(s,b,A) > (p,¢)
A(p,b,A)—>(p,¢)
(s,£.%)—>(q,¢)
(p,&,%) > (p,¢)

aaabbb

Input State Transition

aaabbb
aabbb
abbb
bbb

bb

b

s
5
5
s
P
B
P
q

(s.a £)—m(3A)
(5.8 E)—»(sA)
(s.a £)—»(sA)
(s.bA) —==(p,£)
( p.b,A) —(p,£)
(p.bA) —=(p,£)
(p.£5 )—»(p.E)
ACCEFTED

[Q={s,p.q}
qOZS
F={q}
> ={a,b}
r={A$}
=%
Q={sp.g}
Qo= s Stack
Fi={9} E
T ={ab} o
E={AT] Sk
L= 5
SAAA
(58, £)—(s,A) SAA
(s.b,A) —=(p.£) SA
A{ (p.bA) —=(p,£) $
(5,£%)—»(q,£) $
L P.ES )—»(p.£)

aaabbbé

Al

(s,a,8)—»(s,A)
(s,0,A) —(p.£)
(p.b,A) —(p,£)
(s,£%)—»(q,8)

L ( p18=$ }_."(psg}
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